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Reg. No.

V' Semester B.Com. (NEP) Degree Examination, March/April - 2024
COMMERCE
Financial Institutions and Markets
Paper : DSC - 11

(Regular)
Time : 2 Hours Maximum Marks : 60
Instructions to Candidates:
1 8 All sections are compulsory.

DT PR STELTTNT.
Section-D is Compulsory.

J;R-8 e —?;’ago&ssaﬁd.

Simple calculator is allowed.

¢ REnSenTT Wb, O STTRNT.

9
.

(7%}
.

SECTION - A
: QNRN-D _ _
Answer any FIVE of the following. (5%2=10)
NS > IJReR wvZ0A0. ’

1. 2) Write any two objectives of Financial system.
TITA 50556 0 DT WTESNTI),  WTOWD.

b) Who is financial regulators.
BOTOAT  JOPOITF  DOTWT A35T?

c) Expand the following :
S TINS  TTNTIY,  DIDAD.

1. SIDBI
2. NABARD
DeRT .

d) What is Initial Public Offer (IPO)?
SROOYT  TOT[FHRIT @S (IPO)  20TBeH?

[P.T.O.
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th

) Write any two features of Primary Market.
SITRT ARAVARTAR TR ogeendRy,  wdemo.

D) What is Forcign bmkx

N .
QRS |OXNL Q0TS¢ Kb‘?
S

g} What is Factoring?

>
-

T|_IVOT 20TTeN?
SECTION-B
IEATATT) )

Answer any THREE of the following.

FENIIASY DD TJReR wo301R0.

Explain the functions of Financial system.
TR ‘*‘*‘:pccb TODENTIR,  ROZTIoN  D[ORD.

Explain the Importance of Money market.
TET [RNIED  DIII,  ROFTTN DTORD.

Distinguish between Primary Market v/s Secondary Market.
TR TR, DR °°ao:L/®z<>Moﬁz§ ENNBIeVI S oM S@Nﬁeﬁm

Explain the importance of Non Banking Financial Corporations (NBFC's). |
IROIST TR TOTINS DII[R,  D=ORD.

Explain the functions of Regional Rural Banks (RRB'S)
TREEDT T RODNY  FTODFAFT), RTOZTIN - DTOAD.,
SECTION - C
QNTN-3
Answer any TWO of the following.
FNIINTY  CRIJHTRTIAR AT g‘ei’elri%"ﬁ YOZDR0.

Explain the functions of stock exchange.

[ Jer3od TORFNIRY,  QW|ORD.

Explain the recent developments in an Indian Capital Market.
R3S WoBIRY  BRIILD A8 zﬂ%ﬁméﬁﬂeéab& ROZTzmoNn

(3x5=15)

03oN0.

(2x10=20)

WOV,
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10.

11.

il &) 48135/1£0350

Explain the objectives and functions of SEBIL.
ARCH OZEIADH  DH SRR, DBV,

Explain the role and functions of Banking.
RECAS TRF I ODFATRY,  DWOAD.

SECTION-D

~ QPN-B3 .
Compulsory question. (Case Study) (1x15=15)
el I3, (Jpor DFe).

a)  Mr Kotresh is an Engineer wants to invest in Mutual funds. As financial advisor
suggest him the advantages of mutual funds.
3¢ Zneds oID WY, VPOPOITTINTY,  TWIIT afpri%*@ D TLRTBD
20033NC§DC3 205:3;3@&) a:’saamn &o&mdmﬁ wdfod ARNY  ODTRVINTI),

) 3¥0. _

b) What advice would you tender to your clients on the following issues.

QY W, MEBION | IENIT é)wojm@ﬁ ROWORAITOZ DD RO
BRTED woﬁaméea

i)  Can the securities be bought dlrectly on the floor of . Bombay Stock

Exchange? If not why.
g0023  Jew QWO ¢ FoWROT  JeTzN  WORTY wgﬁe;m&
BRYITE? BRI D87 ‘ |

i) Is 1t obligatory on the part of the investor to open a demat account for

investment in securities. Give reasons.
BRVICITD  WOBY . TINYY I TRAIT  200IT3 EENERS
PBODT),  SBCIVHT maomeo mmem e&d.
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Reg. No.
V Semester B.Com. Degree Examination, March/April - 2024
COMMERCE
Principles and Practice of Auditing
, ' (Regular) :
Time : 2 Hours Maximum Marks : 60
Instructions to C andidates:
1. All sections are compulsory.

.5 D Section is Compulsory.

SECTION - A
PAEATT )
Answer any FIVE of the following questions. , (5%2=10)
NS Pend. o> JJneR  ev3oa. .

1. a) Who is auditor.
: 93 TOZRGFTD  HOBY 0350309

b) State the qualification of auditor.
83 TOBRGI IJNG, OBEI. BeYO.

c¢) What do you mean audit risk?
65& DOBRCFN  ©T0H T IO UBTF  S[IOEEROED.

d) ' State any two objectives of valuation for Assets.
SANY  BPOF0T  BeTn AT OZEBNYR,  2B0ND.

e)  Who is company auditor.

Rookog LoWmY XORoH O3 TORRGID 90TG  oiRT?

f) Define "Qualified Audit Report".
"3BT g3 TO3RFS [T WYETAAA0.

g) What is internal check?
©3030% - T[BWOG  0TWIeR?

[P.T.O.
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10.

SECTION-B
v PATATY (s e
Answer any THREE of the following questions. (375=15)
BeTT  Toedh BBRYR evZo20.

Explain rights of Auditor.
6366 efoRACN AL ﬁﬁ%ﬁ‘#a‘o‘)‘ WNWOXD.

What are the objectives of Internal check?
BO303  TW3WOTT T BRI ?

State professional ethics of company auditor.
,‘dood:pg WOBw xorg)oj: r::ﬁé TOBRGTS weEWC Ded AckInvIZy TRl

[

What are the types of audit report?
g3 TOBReES =TOOD  TEOMTRHH?

How do you audit financial investments?
DTS  BRRIODD, Bern g TOZRWGE  TRELL?

SECTION - C
RERNn-2
Answer any TWO of the following questions. (2x10=20)
Ben T JIRYR LoD

What is vouching? Explain objectives of vouching.
TR SeDNnY  BOLCOH Q0T TeNL  BTT  LUTEINYT,  LmLiLE.

How do you audit the following?

a) Machinery

b) Stock/Inventory

8 FWNIPYNY, Ten d@mmeaﬁ TBTNDY
a) ODOBREHITLANTD

b) RO

How do you audit Educational Institutions?
3ads Aognvs, B Of WOSRGHORE, FRA%IO.

Discuss the elements of audit report and prepare "Specimen of audit report”.
g3, TOZReT [CO  LIRRORWE  BOTNTT,  BEFAD L =RSO
SETOBReETD  [OD  BRTOODE 30372020.
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11.

SECTION-D |
Qn-8

Case Study: (Compulsory question) (1x15=15)
WO YRS ¢ Imad 3, |

a)

b)

e)

A transaction of cash purchase of car has been taken as cash purchase of goods.

PR" IND DOeD RVFOIZ, IR XODNRG DO QO
tATelovviontatng

Credit purchase of foods of Rs.2,50,000 was entered in the purchase book as
Rs. 50,000.

T.2,50,000 353336 Npla) 33@@@0338’)3 20000 wmﬁ'cﬁ@ 00R.50,000 ot
LW30HSOA.

An item of wages of Rs. 60,000 was.posted to General Expenses Account.
00.60,000/~ 3RO wRBODI, WP, DWFI L0037 BTN,

Césh sales of Rs. 25,000 has not been recorded in the cash book.
30.25,000 8@35 N maca&mz& [N DA ﬁcﬁ@ wdodaemﬁe

Rs. 4,000 printing bill paid is recorded in salary register.
82.4,000=030 0 RS SRATP, =5e3I RS SRITY  ITRORCONT.
. = .

" As an auditor, answer the following questions. "

ey 2y SF  WOSReFTION, B IINS  TJAYR  @030R0.

1)

Mention what type of errors are committed.
030E  FT  BINWD  ROPDAF  BewO.

What action will you take to rectify such eITor.
TORYNO  WOWORAT  IIJAYR), TJen IHIE  IIRDD.
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Reg. No.

V Semester B.Com. (NEP) Degree Examination, March/April - 2024

Time : 2 Hours

COMMERCE
Indian Accounting Standards
(Regular)

Instructions to Candidates:

1
2.
3.
4

All sections are Compulsory.
Attempt all questions according to their internal choice.

Section-D is Compulsory.
Simple calculator is allowed.
SECTION - A
DTENR—-D

Answer any FIVE of the following.

dENEZRATY Lemm DTE Lu300.

1. 2a)

b)

g)

Define accounting standards.

<=
~ .o
=

What are the financial statements?

TEOTOTEDR,  zo.S50.0A0.
ES k2] o

(.(“L

J[esTA Wi ClTIw)?
‘What is tangible assets?
el SANY 20TTeD?

Expand i) IASB ii) GAAP
“7da: 1) IASB i) GAAP
What is investment property as per (Ind AS)40?
gzCéch JEIE =Tpouor 408 Tl [eBod D
T < £
Mention any two items of other income.
CRITTD 2TE BT SEoDNEEy,  wicd.
What do you mean by related party disclosure?

prloratela) N ai f:‘éc:rcd z:’:dor‘ TRWNE  20TBED

Maximum Marks : 60

(5%x2=10)

DOTTEeN?

[P.T.O.
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SECTION-B
SeR-0
Answer any THREE of the following.
$ BNRIMYY wWimd Tedd w300,
What are the features of IFRS?
IFRS 8 o¥rondmy, wdod.

List out any Ten Indian Accounting Standards as per GAAP.

"48134/E0340

(3x5=15)

GAAP Imd  Ro3cod O8z38  odnxmeddd 10 SRITOBAGRY,  WIWD.
From the following information prepare a statement of profit and loss for the year

ended 31-03-2023 as per Companies Act - 2013.

Particulars Amount
Revenue from operations 6,00,000
Salanes 70,000
Stationaries 15,000
Interest on long term loans 25,000
Advertising ' 40,000
Raw materials consumed 1,10,000
Discount allowed 10,000
Depreciation 10,000
Rent received : 40,000

2 3YNT SIHDSoworm  31-03-2023  Je dais-'éﬁ BRINPOBHN  BOTR ToSHOID

2013 T Tpo0 ooy OPE RRB ST0ZODR, 30330010.

Patnlel 8.
SVIRLEL esood 6,00,000
SeSs 70,000
ReTTO 15,000
gemrd@ OB W8 25,000
FAnl s qentc) 40,000
g, mowToNnY evzmodeen 1,10,000
Aped  BRUE 10,000
poni. 1 10,000

men SRS 40,000
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5. Praveen Co. has purchased an equipment for its manufacturing unit. The price paid for

the E.:quipment is Rs. 2,20,000 inclusive of GST of Rs.39,600. The company gets 2
. credit of GST, while calculating tax payable on finished goods sold.

The additional cost incurred are:
Freight Rs. 4500
:Customs duty Rs. 4,000
Installation expenses Rs. 3,000

Istimated cost of dismantling and removing the items would be Rs. 1500. After the
cuipment was put into use Rs. 11,000 was spent for cleaning the spare parts.
Calculate the cost of PPE as per Ind-AS-16.

Joes  BomIOD B,  WOTTTO TS, WOT oDo3RI, Twe. 2,20,000
EZ’)Z?E’)SD@ DODAT3 ESD'@’D é% éz‘éd@ GST dw. 39,600 53@&3) 20T
ﬁoof(’oofm A% BN SRoOUT :;’Sae)cs Ded3 3R T[S SRS SesoQ
33 GST a:'ira:a’ m*a"'am‘)d

Q33 | DebFnsd B3 0ed [
Soros  ~oOR  dw. 4500
3mRy, o3 S 4000
wesSad os Twe. 3000

2EORT TONP BHT HoBTW WOV $g Tw. 1500 030ZFI, goJodeen 53
oRaad  Hed  $oxT 0B Pennd asdes dw. 11,000 Ind-AS-16 Sdole
oHogm  BSNI,), OB HBOWD.

6. Difference between provisions and contingent liability.

2OFIND  ROR) RoBRVEOP  wTOLRONG  BIVANTR,  S9A.

[P.T.O.
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SECTION - C - [
QEN-2 {
Answer any TWO of the following. (2x1020)
FWNIJRYY SRIPmuSe AT gﬁéﬁ@ﬂ O3BAD.
7.  Explain the need and objectives of Accounting Standards. j
65 3 [RISTOTT vdzﬂ 83 DD mde:ﬁ‘ﬁ?&b RNTORO. (

8. Mentlon disclosure requlrement of operating segment under Indian Accounting St‘uﬂdrds
108.

P03 SYTI  RPSFOR 108 JPO  ocswrts Qgenne w’isdoﬁ
TRRT  ONSINIR), IRRHAD. ‘

9. Coca constructlon company, constructing power generation plant. This project rcqun‘es
totally 12,00,000 which raised as follows.
a) Rs.4,00,000 from IFCI for 10 years @ 11% interest rate.
b) Rs.2,00,000 of loan from HDFC for 6 years @ 10% interest rate.
c) Rs.2,00,000 loan from SBI for 4 years @ 12% interest rate. /
d) Rs.3,00,000 from 10% debentures for 5 years @ 5% discount. j
e) Rs.1,00,000 as OD from Canara Bank @ 4% interest rate.
f) Out of total borrowed fund Rs. 2,50,000 kept 6 months @ 5% interest in

HUDCO.
g) IFCI Bank loan is borrowed through consultation and consultancy charges are
2% of total loan amount.

Calculate total borrowing cost accordance with Ind-As-23:
BRSO DJIOFED ~o~oda 3% YLTTI  PWIDI, JITPF [RIT. B8
BoemIN 2ot tira 12, 00 000 oTFF3 Q@& ;R BIeI[DH, FTYNII
RO ACONTI.
a) Tw. 4,00,000 IFCI 10 R[x¢ne =31 3e. 11% T WRTT.
b) Tw. 2,00,000 6 ==mEnRY WOR HDFC  e»08d08 3¢ 10 2RTT
c) Tw. 2,00,000 SBI d0ow 4 IJIRend =87 e 12 wyBC,
d) Tw. 3,00,000 3¢ 10 T =ooI3NH 5 JRFASRSR Je 58 WHTT
e) 3I00 poEOT OD =033 Twe. 1,00,000 3¢ 40 WRTT

f) ZonAB OB i) Be3rY dw. 2,50,000 6 Sonsh Be 55 WRTORY
HUDCO 59,0839 Se3ed “EREOINT.

g) IFCI mofszoozj TRT  WOVBREINOT OB ) ATOONTN 2t TOOT
e 2 o), BN,

%500 8eoD Q%w@ F&Décﬁod 23 T [l »oow dzgwma TOW &HARAOWD.

!.
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10. From the following prepare a statement of financial position on 31-03-2023 under

companies Act-2013.

Debit

Amount Credit Amount
Tangible Assets 6,00,000 ESC 5,00,000
Intangible Assets 2,00,000 GR 3,00,000
Current investments 2,00,000 P&L A/C 3,00,000
Non-current investments 2,00,000 Non-current liabilities 5,00,000
Trade Receivables 2,50,000 Current liabilitips 3,50,000
Stock 4,00,000
Cash 1,00,000

23 29803 Rkdo00T  31-03-2023 COm  BOTOR  DLODRY, Io3wOA
(30T TONT 2013 T  BFO)

a3>ed . [~ oR.

8T B3 6,00,000 R WOTBTS 5,00,000
$58TRYT  SA 2,00,000 ?Jaaisaa‘:?s Al 3,00,000
w9 DRIINL 2,00,000 e:az;ﬂ—‘&’)% L3 3,00,000
zsae?:od:gcs &N 2,00,000 30HODYT JpBMmdE  5,00,000
méasad@od wgBdesdw  2,50,000 2509 BHRBMOOT 3,50,000
BLOBN

IC® TR 4,00,000

[N 1,00,000

[P.T.O.
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SECTION-D
QLTIN-0

Case Study. (Compulsory question)

HETUrD  OGods (Swmyod  JB)

48134/E0340

(1x15=15)

From the following trinl balance of MKD Co. as on 31-03-2023. Prepare a statement

of P and L account as per schedule 1T of the Companies Act.

Particulars

Dep. on premiscs
Material consumed
Opening stock

Bad Dcbts

Bonus to employces
Interest on loan
Dep. on machinery
Conveyance

Loss on sale of Machinery
Sales returns
Provision for tax
Machinery

Salary

PF contribution
Premises

Computer

Insurance

Amount
16,000
16,00,000
80,000
7,600

40,000

32,000
36,000
8,000
40,000
80,000
1,20,000
“12,00,000
2,28,000

1,72,000

3,20,000

80,000

32,400

40,92,000

Particulars
Equity share capital

Outstanding wages

& Amount

24,380,000
16,00,000

12,000

40,92,000



I T A o

MKD soxn

31-03-2023

TR

Patte]

DR DO I8
W, Seind wuZodeen
Slefebaly WY,
TR Toon
BOIMOS  BreIse
oud BedT 28
cDoZT  IJEY
5@50335;

OD0Z, [TUMT  SF
N0 TY OTTR),
301 T3

o303,

Rows

PF S033

oen

neeg oo

)

AN

0)

dndnnom 8 8YNS
- 1 BERT Il ooi-IIYW 230D, LG HRA0.

2a3 ()

16,000
16,00,000
80,000
7,600
40,000
32,000
36,000
8,000
40,000
80,000
1,20,000
12,00,000
2,28,000

1,72,000

3,20,000
80,000
32,400

40,92,000

48134/1£0340

So¥ c‘.:s{)aﬁ:od sO=T

Bl 23 (CR)
R0 24,80,000
mmﬁs Bedd 16,00,000
WOTTY

3ow3y, BRI 12,000

40,92,000
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Reg. No.
V Semester B.Com. Degree Examination,_ April/May - 2024
‘ COMMERCE
Financial Management
(Regular)
Time : 2 Hours ' Maximum Marks : 60

Instructions to Candidates:

Answer the questions with Strict observations of internal Choice.

1. .
| 0308 Lol ohwE FHAA NDAY IFRYR LvEo0.
2, Use of Simple Non programming calculator is allowed.
XY, BRMNONT OUT TLRSRITRY, WIBWTIT.
SECTION - A
: PATADY o T _
Answer any FIVE of the following. - (5%2=10)
Bews g vZd20.
1. a) Give the meaning of Finance.
TERTOAT  OFF  WTND.
b) What do you mean by wealth ‘maximization objective?
RoTB) ﬁb%e%deacs emc%es ROTBER?
c) Define Capital Structure. ‘
WOBY  HoTWI0H W, EeR.
d) What do you mean by Capitalisation?
2)0BTOeT 0 .ao'dzjeab?
e) What is Net Working Capital?
DBE  DROINT  WOBIY  HOTIEID?
f)  What is Net present value?
IFF  ATTW  BTPY,  20TTeD?
g) = Write the formula of ARR.

D.ET°.GT.  BRT[I,  WTOWD.

[P.T.O.
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SECTION-B
aazpari—a?g
Answer any THREE of the following. (3x5=15)
IINIZYRSQ  Bewo mcs POIOAL.

Critically analyse the profit maximisation objective of financial management

DEOTOAD  JIRFJ/HBOD BT RO3yesTed m%@éwm&‘aaﬂamréjmﬂ D=ORO.

3.  Sahana Company Ltd. provides the following data and asks you to calculate
1)  Operating le\}erage
ii) Financial leverage
Sales 10,000 units @ Rs.60 per unit
Variable Cost - 60% of Sales
Fixed Cost - Rs.1,80,000 and
Bonds - Rs.2,00,000 @ 10% interest
XS 80T FENT  [e0IoPI), Jed a@ﬁ%ﬁo S9RT0Z  FeRT.
1)  FRFI3 XY,
i1) ?émﬁfoﬁ SN .
TS oIFR @ TR10,000 OIODVEF TR.60  STODE.
WERNHE By - [0oRE  Fe 60% |
Ndd?ﬁi dw. 1,80,000
ci.ra200 000 @ 3el0T &)@ ‘
Woomnsd - Je. 10%3 Tw. 2,00,000.

From the given information you are required to find out NPV of investment project
i)  Project Cost - Rs.5,00,000

i1) . It generates cash flow for 5 years PV factors @ 12% discount rate are also

given. .
Year - Cash In-flow - PV factor
1 Rs.90,000 0.893
2 Rs.1,25,000 0.797
3 Rs.3,00,000 0.712
« 4 Rs.2,50,000 ‘ 0.636
5.

Rs.2,00,000 ' 0.568
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B BUNT wSmLionon Tegicd oW APY AT BPOIW, 980
1) TREUT F ©re.5,00,000 '

i) =@ S Sney  wvEomy wene F 12%0 Ak ©UB03  AGT
WY, woBnvy B FUNToED.

bt SnTh  w¢Tow) AT TR0
1 dr. 90,000 0.893
2 - Te. 1,25,000 0.797
3 Sw. 3,00,000 _ 0.712
4 dr. 2,50,000 0.636
5 gr. 2,00,000 0.568

From the following 1nf0rmat10n, estimate the amount of working capital by operating
cycle method taking 360 days in a year

Sales 10,000 units @ Rs.200 each

Material Cost Rs.100 P.unit

Labour Cost Rs.50 P.unit

Overdraft Rs.30 P.unit

Customers are giveri'SS days credit

Creditors give 50 days credit

Raw materials20 days and

Finished goods - 15 days Kept in- stock

Production cycle period - 20 days.

2 ZONS SWENO0T  ToOHFATFBEOD
| 2OTRIIE, . BOW  LBRCWO.  2.0TH =

"’w'aca,..—lo,ooo ORRIALTNY @ TrL200

Aowssy - BE owdER de. 100

o392
~’

B oS0 OmEng Haces
0 O3ngomd  =oredrd.

(aL

=

L qdlv 9]
W
(@)

)
g
h

.
~

-
© =dnd ] N T\ £ oY
T HY - TS L Oa. ‘50
5080 EeTE  TE  ododErd cwe. 30
mMEEon  AeRT  TWES ©TIQ 55 - TN

&

TONTY  RT §» 2R 50 oInW

32,33;3:13 TRARATID[® 20 OINW
Nder SDESDINY QUJ.Q)UJ 15 o=nw

UTDTTY BB w:W 20 OIAW
@d —

[P-T.O.
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O,

Calculate Average rate of return from the data given below
Cost of the investment Rs.6.30,000
Scrap value at the end of 5 years Rs.30,000

It is expected to yield profit after depreciation and taxes during five years as below

Year Profit (Rs)
| 50,000
2 70,000
3 80,000
4 60,000
5 40,000

FENT SLSCNOT  D.ETLSTS. 30D B0

2D TET IeB0DY D [P,  Twe.30,000.

S 2 JITNY oIodY  A[IP D) 307 SoIVT  Jdes3 R B
gYN[0ST.

SEE o3 (BR.RYY)
1 50,000
2 70,000
3 80,000
4 60,000
5 40,000
SECTION - C

NRN-2
Answer any TWO of the following. (2x10=20)
dedns cinRde 28R JIACR  wvIo20. -

What are the types of Leverages ? Explain advantages and disadvantags of these types.

AROD PR IRIZ? B DPNTW, OJINY OEe TONR - ORDBRORZL0OR
QNWOAD. ' : ’

What are the factors inﬂuencihg capital structure of a company? _
C3ToYTE  TOTIOD  WOBTOY xomséoiaabd TEOIDT  ©oBnth  oIPRTY?
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Hita Lid is producing articles by manual labour and is considering it buy a new
machinery. There are two altemative models M and N of the new machine. Prepare

4 statement of profitability showing the pay back period from the following information.
Which machine is preferred?

Machine A Machine B
Rs. Rs.
Estimated life of Machine 8 Years 10 Years
Cost of Machine 10,000 24,000
Estimated Saving in Scrap ' 1,000 1,600 .
Estimated Saving in direct wages . 8,000 10,000
Additional Cost of Supervision | 2,000 3,000
Additional cost of Maintenance 2,000 | 2,600

LT FOONLFET [PII TWFICT, WP JVNETY, WWIVODED. BRI
CRoZReTINTY, JONeS [RIDEB. M FH N 202 20D IJo3weeod
oodeT oz;:smhd.

NS SRLIMEOT THAFE ST LYBOIT FUFHo IodwOND. Te T
2000 [HD DS ©BG] B0  HBOND. GINT  0POITF  dRRTONS?

Ftod ohog A oho3 B

' 3. an.
chog BT ORI \ 8 JwF 10 S=e
chozs 10,000 24,000
get~tolovss NI BIeM ' 1,000 _ 1,600
B0 BROCHY  LTOD 8,000 10,000
SoeuwoRcd ©O¥ [ 2,000 - 3,000
nFEHod ©03 S5y 2,000 2,600

[P.T.O.
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10. You are supplied with the following information in respect of ABC Ltd. for the
ensuring year

Production for the year : 69000 units
Finished goods in Stores 3 Months

Raw materials in Stores , 2 Months
Production process L 1 Month

Credit allowed by Creditors ‘ 2 Months

Credit given to debtors | ' 3 Months

Selling price per unit ' Rs.50 |
Raw material , 50% of selling price
Direct Wages _ © 10% of S P v
Overheads S 20% of S P

There is regular production, Sales cycle, wages and overheads accrue evenly. Wages
are paid in the next month of accrual. Material is introduced in the beginning of
production cycle, You are required to-find out working capital requirement

R.D.A. TOTAIR  ROWODAT  BISNT DLWV QereoN.

TONFE  YUTVTH 69000 cheREF
RABOIT AT, T 3 -2one
TORRISYTOT - B2, TN 2 donish

wTBBT IO | | 1 sonsh

INROT AR TET W[ - 2 donwd

QGO ERION DedFI BT O 3 o

T3 ooREE mPoRR B - Se. 50

B, wR . C anon 3o 50%
Jed 8RO . . wwoe BIad  10%
238 [ Swoer  B3Sod  20% -

QOTES, [RooE WK JV0ITTNB. BeO DB, B33 B[ RSN
RowBRRHSN.  BRIONT, RoWIRROB  JNoDT  donsd mdéﬁ@aﬁagﬁ.
BT WIS $U0ERY HRBRRDY, TOUWRLIHIB. DRCIVT WORTES
ONZRR, TOW  HROND.
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SECTION -D
Rty Se! '
Case Study (Compulsory question). 7 (.1-X15=15)_

TEOEGEEST Xmoaemald.
D ~

"Meenskshi Company Ltd. wants to setup a new industry at Tumkur with an investment
of Rs30.00.000. New industry is expected to yield EBIT of Rs.6,00,000 For
maximising its EPS the Company is considering following alternative financial
proposals

]

All equity Shares of Rs.100 each

B)  RsI3.00.000 in 10% preference shares and remaining equity shares of Rs.100
¢)  Rs.18.00.000 in 8%% debentures and remaining in equity shares of Rs. 100 each
d)  Rs.18.00.000 in 12% debentures and Rs.6,00,000 in 8% preference shares and
remaining in equity shares of Rs.100 each.

The Company is in 50% Tax bracket. Determine EPS in each plan and comment
suggest suitable plan. '

ERE SO AWDWE DNIROIY [eI 5333:?53:@3&:3\» dw. 30,00,000
SeGE =TI, IR TIREHNOT VG DR 301 IRTIFT STRODH)
Sa. . 6.00.000 SIS, TS 503 STRADY)  [griodendzmed S IENS.
Dol Smemdnes

2

Tomacms FIesE de 100 3 IS, 3eonsd

b) J=. 15.00,000 3¢ 10 T 133?33:5 BeNH TR LIS Sw. 100 3

=Ren 3.
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V Semester B.Com. Degree Examination, March/April - 2024

COMMERCE
Income Tax Law and Practice - I
(Regular)

Instructions to Candidates:

1.
2.
3

All questions are compulsory.
Section-D Case Study is Compulsory.
Simple calculator is allowed.

SECTION - A
QNN — D

Answer any Five of the following.
3JgoR oSRPmeTECR N JINCR  wvZd2.

1. a)

b)

c)

d)

2)

State the types of Tax.
OO IPNFR), BIOR.

Who is a person?
55:_;: QOTT  C35T0Y?

What is casual Income?
TORONT SO  H0TTEI?

State the deductions U/S 167
OO 16 TOWT  IRINGIY, JROA.

State any two fully Taxable allowances.

T 3ONR  LIIVEDT  CSRRTRB ATE B3REI,

‘What do you mean by unrealized Rent?
OWWIDT  RBR DOTTERD?

What do you mean by Tax Deducted at source?
DeonY FRINAVPITE 301 0TTeRD?

Maximum Marks : 60

(5%2=10)

TROA.

[P.T.O.
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SECTION-B

o - W
Answer any THREE of the following.
AR e Z!_%ﬂ.‘l“’ﬂ U\)gbhb.

(3x5=15)

3o Su Devarg, who was bom and broughtup in India, went for further studics to -USA on
1O Mareh 2020 and came back to India on 01.03.2023 early in the morning.
Find out his Residential status for the ALY, 2023-24.

S Semonn @ RO o3cSoeng), e @yNonTgN USA R 10
ey 202080 d0vr) DnomdEdod  HF0s: 01-03-2023 TOTH WO
el Socbibmd, woesd  ams  2023-24 80800 [Fg, =33 %3063534

F oD,

X Smt Sumati covered by payment of gratuity act-1972 retired from Kiran Ltd., on
15,10.2022 afler completing 29 years and 11 months of service. In the month of
September her basic salary was Rs. 9000 and Dearness allowance (50% includes in
retitement benefit) Rs, 4,000, During the year she received gratuity of Rs. 2,50,000.
Caleulate Exempted and Taxable gratuity for the A.Y. 2023-24.

B¢ W3 DR WD Dot eyt modid ook 1972 3 PTEd, 305°
DM 20 Jae 11 Sonsd Ae@RYA. dFBoDR, BeodEY.  IFOWT®
oedd) wRd RweoBe3Iy de. 9000 B3 Sonsh Tonwe B Iond
d. 4000 (S0% RS RPos  XeDA).  BOTIOIN Q@O oL 2,50,000
ARIANNRMINVY e,

SOOI WIRE  2023-248 30K edTWREE worte FORR  wdTRE  ModdEIoR,
BORd  LHLidado,

4. Mr Krishna of Bagalkot an employee of a company is receiving HRA of Rs. 2500

.M. His basic salary is Rs. 5,000 P.M., DA Rs. 2500 P.M., (Rs. 1500 includes in - - .

retirement benelit). He also received commission of Rs. 15000 P.A. During the year
he paid rent of Rs, 2000 P.M.

Calculate taxable HRA for the ALY, 2023-24,

B¢ n;;{gd:sob onwdetiod Lowd  BOTICHY mc&raéenodjaf\d% QW Tw.2500
3 gorikh O el PEodsy, WE0SR, wRS BooHII 5000 Tenisd

#

¥4

JA-30ntd, DrIFF de. 2500 (Cwe. 1500 DTV o Reddd). amdeodr
QAID  ToAFE 15000 BR  BOYDT XTw BEODZWS. BT IWETY 3B
T dorikd 2000 TRMERY, eldrod®dN  TemSATT.

6060 SRE 2023-240 BORR  wYUWB  HIBR  HIoDIY, BomEHBNE,
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Mr Laxman let-on one house at 10,000 PM. Its fair rent 1s 12000 P.M. Muncipal
““!“"“““ 14000 PM. and standard rent is 13000 PM. The House remained vacant for
.anmh'\ There was unrealized rent for 1% months.

LCalculate Gross Annual value for the ALY, 2023-24.

s

VL s Im womabdonm, doned 10,000 denivod  mmand
MTAS. TTo clay wmad foned. 12,000 dansd ToAs  Ind X
=SNG, 20neA 14000 canv. % ISwoied man donen 13000 Sens.
T DA 2 onv wZOA  tmOcADIE. 1% dond mad XTo TS
SENRZT0Y. mmod  grcdd S%F 2023-24 O WAL TRAF TPOID
O LAcho. - oo

What 1s Advance Payment of Tax? Write the Due dates of Advance payment of Tax
U/S 211.

—— .
<XenzE 2o Tz

(a2

20TCeN? =oonzEd 30”8 o3 Cbmoﬁm;‘ab& 2800,

SECTION - C
SAtAsl SR Y
Answer any TWO of the following.
CRIYE T gﬁ_zria:ﬁ LUZ0A.
List out any 10 Exempted incomes U/S 10 of the Income tax act 1961.

e 301 med 1961 :‘Jgﬁ 103 3011 OTRE IET I TOEBR

10 sRobrem, T REO.

(2x10=20)

Mr. Jayaprakash a resident of Navanagar furnishes the following particulars of his
income for the Assessment year 2023-24.

a) Income from agricultural land situated in Nepal Rs. 60,000.

b) Income from Business established in USA received in India Rs. 25,000.

c¢) Dividend from Domestic company Rs. 8000.

d) Income from Business in Iran but controlled from India (%" received in
India) Rs. 40,000.

e¢) Income eamed and also received in Japan from bank, Deposits there Rs. 6000.

f) Income from House property in Bangladesh deposited in a bank there Rs. 15000

g) Past untaxed foreign income brought into India during the previous year
Rs. 20,000.

Compute his income for the A.Y. 2023-24, if he is
1) Resident

11)  Not-ordinary Resident

iii) Non-Resident

[P.T.O.
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O mODTWI  A[H  IIINCT D0ARNGDY, @R IR S0DT
333&;30335534 R IYT0ROI ae@a%d,

30T [TTE - 2023-24.

) JYBY NRAT A wmeod - Tw. 60,000.

b) USA 3Q wod =omed oo, oEag mEOmS. dw. 25,000.

C) R030D  FOTIOWOR BT <303 Bwe. 8000.

d) [CTIY NI MTOCOOT  wo STY  POROT  ICOSIVLT. (V4
Ponids  STRoH  T3TY TEODZE.) B, 40,000.

€) Smed RLAT) Tonw TEOD), RWIBTY DB WRS®  SNTR)TD
OYI  ROFIY Twe. 6000.

f) =3 sawozd woBd  wmeod dwr. 15000 2POMBESTY TED  ©ES
ROTIY  RTP-  BRBSONT. :

g) 30R o3ICH [PEONT HOOI B33 soeod dw. 20,000.

O dm’:oéoda:mﬁl BPOR—TTOXNF T WD, BTRODBR), FOWERBONO-BRS.
1) QT0H0TT3.

i) BRTY; JTRCDHYAZT.
11l) ©QTR0H0TTT.

9.  The following are the particulars of salary income of sri Uday, a sales manager of
a company at Mumbai for the PY. 2022-23.

a) Basic salary for the year Rs. 72,000

b) Dearness Allowance of the year (not eligible for retirement benefit) Rs. 48000.
c) His own contribution to recognized provident fund Rs. 7200.

d) Company's contribution to the said fund Rs. 9,840.

e) Bonus at 20% of basic salary Rs. 14,400.

f)  He was also provided with a rent free house for which the employer paid a rent
of Rs. 5000 PM. He was allowed to use furniture costing Rs. 76,200.

g) Life insurance premium Rs. 9,760 on his life policy was paid by the employer.

h)  The company paid for his two children education allowance of Rs. 350 P.M. per
child.

i)  Cost of private tour paid by the employer Rs. 10,000.
Compute his income from salary for the A.Y. 2023-24.
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a)
b)

)

48132/E0320)
WHOH  BIBD  2022-23  FRooL  LERRT wRFSeT ehmy smss 25
Rowys  umonyg WRWIONT), By EWEOBOZ chrml. VWL WROELEY
mw - ) v
& E'OCSF'&J;GD%GQ) .
WOOTVEST  woaFrsmIN  Se. 72,000
DRI, (AR Pogd wvBHRBOY) eart 48000, TER.

¢)
d)
e)
y

£)

h)

BRI RS BOm, PR BT mear
BRI TIT o,
BoeIxe -

QWO BOTIWB0WOT el RARCLE @ APOGETy, BB TINT.
QCTN  TOTIOHIT  Foner Be 5000 Bn  RBRONT, TREEETE LT
B3R 76,200 B BROT  ABReTETLT W RBOBT,
TOTIONTIB B 9,760 e=DT
WIRRTOTVT.

gwmoén ©r. 7200.
DO BOTAOD  TarE@mOLTY TR 9,840,
BVROBRIIT  20% TR 14,400,

P
-

DEEZTNT.

== ANt drnidaless =t — -———z
B0,  WUTRENSD  TTTEN
FOTIOID  9WB 2B WYX Tw. 350 TOZ TE
z;ééo:bm‘,‘ QeRTIZVT.

So0%ON  TEmoR@W  wdF B 10,000 @) EomHodn

BO3CES WRE  2023-24 T ), FeST  CORODTE, OB

From the following particulars compute the income from House Property for the A.Y.
2023-24. of Mr. Mahesh.

Nature of occupation H.No.I H.No.ll
(SOP) (LOP)
Municipal value p.a. 1,20,000 1,60,000
Municipal Tax 12,000 16,000
Rent receivable P.M. - 20,000
Repairs 22,000 44,000
Interest on Loan taken for
Construction 20,000 40,000
Insurance 3000 4000
Rent collection charges = 8000

[P.T.O.
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NTT I3-01

(3 wvzciecn)
TOXFT  INTRES :ﬁa@é 1,20,000
SnS ="e3  30R 12,000
BT BR  SoneR wiil 2
0Jed 22,000
NS ARPFRT  OT .
208 20,000
RNJP  WOTOD 3,000
AR FonmHe  BY, - _ . =

SECTION-D

RTIR-8

Case Study (Compulsory question)
[Eor ogohT  (3myed =3)

48132/E0320

3¢ SHBeITH[E  FOITES _dﬁ?—2023—24§

- R-02
(eeair)
1,60,000
16,000
-~ 20,000
44,000

40,000

4,000
8,000

(1x15=15)

a) Calculate the Amount of deduction U/S 80C from the following perticulars. For

the A.Y. 2023-24.

* Subscription to ULIP of UTI

* Purchase of NSC VIII issue

* Intersection NSC VIII issue (accrued)
*

6,000
10,000
3,000

Repayment of housing loan

(Including interest of Rs. 10,000)

25,000

*  Life insurance premium paid

(On married Daughter's life)
*  Postal life insurance premium

10,000
12,000

* Subscription to notified home loan

account

15,000

Tuition fees of children
Contribution to URPF

5,000
3,000




0 O O O 7

81 BYEOEm Tmml3ociss e

g e v is Au ’u’: J}

LBnb., ¥oECiE  =zF-2023-24.

B UTI = ULlp 2% zccmc=ot
* G‘&;tc&: SUOTICLS TE %

s Yool Ao
-

,g, TRk

b WeTWSL  TIe  wiedm w2

1] pes
. NE oOERmFng mes =
(Tz. 10000 2w FebTIED)
* W LT ECZ TmWEITY
(&2 =ne == }
* ©0d seTaTmR oD
*  ©QERRE nE mei #o:
532

Y
(L.

)

#) C iz
T

6,004
10,000
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15,000
5,000
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V Semester B.Com. (NEP) Degree .Examination, March/April - 2024

COMMERCE
Good and Service Tax
(Regular)

Time : 2 Hours

Instructions to Candidates:

g2
2
3.

1.  Answer any FIVE of the following.

All questions are compulsory.
Section-D is Compulsory.
Simple calculator can be used.

SECTION - A
PAYALY ) Son)

deww R TFAYR  ¢0I00.

a)
b)

o)

d)

p! -ﬁ_\“

g)

What do you mean by Excise Duty.
Excise Duty 20T38e09 '

s M Y . )

Expand CENVAT and UTGST: -
230% . CENVAT 338 UTGST, -

¥

Which persons are liable for regi;;ﬁation._in GST.
What is GSTIN?

GSTIN 208389

What is tax invoice? ,
3oR | ROBTES  QOTTED?

Seff assessment means in GST. _'
GST 09 3oHo SIPYDRTI  DOTTE?

G_ivé the meaning of reverse charge.
SDNTWE T8 Q0TBEN?

Maximum Marksv: 60

(5%2=10)

_GST 3Q SeoSs IPaZeYLL 3PS HINW %D TOINIHTS.

[P.T.O.
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SECTION-B
RZN-V
Answer any THREE of the following.
Bewd Thetd IZneR  ev3020.

(3x5=15)

2.  What are state taxcs that would be subsumed under the GST.
BOFTE. oBoLY QOIRe0RDHE TonE  Forn  cIRTP.

3. Briefly explain registration process for a new applicant in GST. .
BITWEY BN Se0Td mR@DS  B[Fodh g RBogTsonN  OT/OA.

4.  What are documents required for claiming Input Tax Credit..
ITC 3&° =»cEen ONZINE  ToDSHTH 03[,

5. Explain the common issues in filing GST returns.
BT, ougE Fdon mmas@ SIS HTeT, ARARNTR,  DWOA.

6. Woolen house of Hubli sold the following goods to Shree Raghu
5 Shirts at Rs. 1500 each’
.5 Pants at Rs. 800 each

4 Banian at Rs. 120 each
The sales price including GST i.e upto Rs. 1000 at 5% and above Rs. 1000 is at 12%

GST. |

Compute the cost pn'ce of goods. _ _
o TR Dug WD e UFO Q0wFOR 8 NS Snesy wmoon
SRBHTVT.

5 @ohngd Cr.l500 wowsold

5 mRotrri Tw.800  £oxndo3

4 2WIWY Tr.J20 20T3I03

RPT  TWOF BT wenRporod d.ralOOO IS 3 Ik 5% B
001000 303 heds SRR 12%  GST peienicia mmdd a’anouots wwa@

e3¢3 BOW  HBOWD.
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SECTION - C*

NPON-2 -
(2x10=20)

Answer any TWO of the following.
Bews SO FIACR  evIo.
What are the powers and functions of GST councile.

SEY3  DOTBYCD  VRTT DR FOODF T, DROXD.

What are the different types of supplies under GST.
T oY QP JRTIRY 21} QWOAD.

Briefly explain about audit is GST assessment.
Soms mPo, SPIIEG OF BoSeFS HOSH WD,
From the following mfonnatlon of Anand Co, Dharwad for thc month of January.2023.

Compute ITC and amount of GST payble
Purchases of raw material 'A' from a supplier in Mysore Rs. 4,00,000

Purchases: a)
5% GST.
b) purehases of raw Material ‘B’ from supplier in Bombai Rs-22,00,000
12% GST. :
"Sales:  a) Sales Rs. 10,00,000 within the state 18% GST.
b) Sales Rs. 10,00,000 within the state 12% GST.
RIZO 20238 oSO

JomRoHTS 85 BUR &eL
£330 5’3333 23.0%%.83
GST TOBY BR400.000 SRS

DO0WOw 5300
mR@mIY 301

a) HIe® g 3,8050000T 5%

ém;&@ anﬂa}aﬁcﬁ

00el  TeT;Fmesdon 2% GST ddcﬁe) 80.22,00,000 SPYT

'ﬁ’cSDSSnD &)@@N@Dﬁd

S0t a) and.rae;ﬁ 18% GST 3IvTY  8R.10,00,000
'moaw SRBRNT.

b) O'aasciraéﬁ 12% GST ©oxg Twe.10,00.000
a’saoou a’mwemﬂci

BRI, TORWEAWD.

0080

b)
SROT BT,

:&3’9&3@ d*’w_yﬁ@ﬁq,\
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SECTION-D
gn-83 :
Compulsory question. : ‘ _ (1x15=15)
sood I3, '
(Cﬁse Study)

Abhinav Ltd. of Belagavi sold a product to Arihant Ltd Delhi for Rs. 5,20,000
(including 12% GST) Above selling price is not include the following.

a) Normal secondary packing cost - 18,000

b) Cost of special packing - 16,000

c) Frieght charges - 7,000

d) Insurance charges - 3,000

e) Durable and returnable packmg cost - 12,000

f)  Trade discount (Normal practise) - 20,000
From the above information
i)  Compute transaction value
ii) Amount of GST payable
iil) Comment on IGST." i ‘
oPss O, B9 axnd ©0m03.9. TR Q0N (12% BATL) WHRROTBOS
50.5,20,000 0006 23S0 20T [EBZ Rpoes:  TPBTT.
DO Zooer ISR = u@ﬁs@mm aq%ii’u’ao@daaﬁ)@@

) RS, TPFNE notd DI [y - 18,000.

b))  2FeR " Row uesoas Bg -~ 16, 000.

c) wmanr XY - 7,000.

d OB m +3,000. :
e) 29 &)daﬁ ENIH] 0D BNRBTOT RotTERNT - WY — - 12,000.
) zrwzj ek (:Jaa“md es23088) — 20,000.

DEOI BR&S ejmdd oees.
i) IFH08 SPORIIY BOTIBOND..
ii) *a:ﬂ R BDTOT Z:«D?F.és. SR,
iii) @28 Wi woe0.
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V Semester All U.G. Courses Degree Examination, March/April - 2024
'COMPUTER SCIENCE |
Cyber Security (SEC)
(Regular)

Time : 1% (90 Minutes) Maximum Marks : 50

Instructions to Candidates:
1.  Check for complete printing of 50 questions.

2. The last page of the question paper may be used for rough work.

3. Each question has four m.ultiple choice answer and choose the correct one.

4. Darke-n the appropriate circle with the ball pen.

5. 'Damaging/ overwritiné using Whiteﬂer on the OMR sheets are st;ictly prohibited.

6. No candidates will be allowed to leave the examination Hall till the end of the session
and without handing over his/her answer sheet to the invigilator.

7. . Candidates should ensure that the invigilator has verified all the entries and that the
invigilator has offixed his/her signature in the space provided on the OMR.

[P.T.O.
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AL ? 50x1=50
Answer All the questions. Each carries 1 mark. ( )

1. What ié Cyberspace?
A A Physical Computer Network.
B) A virtual space for online communication .
C) A type of computer Vimé

D) An offline storage system.

.2. | Who invented World Wide Web?
A) Bill Gates
B) Stevel obs‘
C') Tim Bemners Lee

D) LarryPage

3. Whatdoes DN stands for?
'A)  Dynamic Network System |
B) Domain Name System
- O) .Data_ Network Security

D) Digital Naming Service
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4,

What does TCp/1p stand for?
A)  Total Control Protocol/Internet Protocol,
B)  Transmission Control Protocol/Internet Protocol

C)  Technical Control Protocol/Internet Process

D)  Transferable Communication Protocol/Internct Process

What is the primary goal of cyber security?

A)  Ensuring data accuracy. ,

B) Preventing Unauthorized access and protecting systems.

C) Maximizing Processing Power

D) Facilitating data sharing.

20907

Which protocol is fundamental to Internet communication and allows data packets to be

routed across the network?

A) HTTP
B) FIP
C) TCP/IP

D) SMTP

[P.T.O.
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7. What does the World Wide Web (WWW) consists of ?

A)
B)
)

D)

A collection of text documents.

A global system of interconnected documents and resources.

A type of computer virus

A hardware component of the internet

8.  Whatdoes URL stands for?

A)
B)
)
D)

Universal Resource Locator
Unified Resource Locator
Uniform Resource Locator

Ultimate Resource Locator

9.  What does the term "HTML" stands for?

A)
B)
C)
D)

Hyper Text Markup Language

Hypnotic Text Markup Language
High-Tech Multimedia Language

Hyper Link Text Management Language

10.  Which Protocol is used for secure data transfer over the web?

A)
B)
C)
D)

HTTP
FTP
HTTPS
il

209()y
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11. . Whatis Cybercrime?
A)  Legal Computer activities

B)  Any Legal Act committed using computer

C)  lllegal Act committed using a computer

D)  Computer programming.

12. Which cybercrime is an illegal modification of data?
A) Cyber Stalking
B) Phishing
C) DataDiddling

D) Denial of Service Attack.

13. Which type of cybercrime involves sending a large number of emails to crash a victim's
email account?

A) Cyber Stalking
B) Phishing

C) EmailBombing
D) Cyberbefaination

14. What does morphing involves in cyber crime?
A) Changing smoothly from one image to another
B) Hacking social media accounts
- C) Creating fake documents

D) Gathering confidential data
[P.T.O.
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15.

16.

17.

18.

How can victims report cyber crimes in India according to the content‘?

A) Contacting the nearest cyber cell or Police station

B) Filingacomplaint through tﬁe National Cyber Crime Reporting Portal
@) | BothAand B

D) None of the above

What type of attacks invol\}e intrution into computer system to gain unauthorized access?
A) . Phishing

B) Ransomware

C) Hacking

D) Identity theft

What is the Primary demand made by ransomware attackers?
A) . Paymentin cash

B) Paymentin cryptocurrency

C) Providing access to more devices

D) Deleting victim's data

Howrdoes a computer virus spread according to the content?
A)  Through physical contact

B) Through social media links

C) Through email and text message attéchments

D) Through Wi-Fi connections.
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19.

What elements are recorded in the modus operandi files of cybercrime?

A)  Software vulnerabilities

B)  Social Engineering techniques

C) Details like entry point, means, object, time, state, tate, transport and trademark
D) Cyber security best practices.

What is CERT-In?

A) A computer security software.

B) A cybersecurity incident response team

C) Asocial engineering technique

b) An online consumer complaints platform.

The primary purpose of social networks.

A)
B)
o)
D)

Online shopping
Business promotion .
Global connectivity and communication

None of the above.

The social media platform which is primarily focussed on professional networking and job

searching.

A) Facebook
B) Instagram
C) Twitter
D) LinkedIn.

[P.T.O.
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What is "Hashtag" used for in social media?
A)  To Separate Paragraphs

B

-

To mark the beginning of a post
C)  To categorize and link content

D) - To hide content from certain users

The security measure helps to protect social media accounts from unauthorized access.
A)  Using weak passwords

B)  Enabling two-factor authentication(2FA)

C)  Sharing login credentials with friends

D)  Logging in from public computers.

The primary tunction of YouTube as a social media platform is
A)  Sharing short text updates

B) Posting Pllétos and Videos

C) Networking with Professionals .

D) Live streaming music concerts

The primary purpose of social media n1oni£oring.
A) Creating engaging content

B) Managing advertising campaigﬁs_

C) Tracking and analysing online conversations

D) None ofthe above
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The symbol commonly used to represent a Hashtag.

A) @
B) =
C S
D) %

What is the key characteristic of viral content on social media?
A) Limited sharing

B) Slowengagement

C) Rapid and widespread sharing

D) Exclusivity

Which of the following is an example of a social media platform?
A) Microsoft Excel

B) Amazon Web Services

C) Facebook

D) Adobe Photoshop

What is the term for using social media platforms for promoting products or services?
A) Social Networking

B) Social Engineering

C) Social Media Marketing

D) None of the above

[P.T.O.
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31. Whatis the primary focus of E-commerce?
A)  Physical retail stores
B)  Online Communication
C) Buyingand selling goods and services electronically -

D) Traditional payment methods

32. Which of the following is an element of E-commerce security?
A)  Secure payment gateways
B)  Confidentiality, Inte grity and Availability.
C) BothAandB

D) None of the above

33. What is recommended as best practice for E-Comﬁlerc_e security?
A)  Publicly sharing sensitive customer information.
B) . Using weak and easily guessable passwords.
C) Regularly updating security measuresl.

D) Ignoring customer feedback.

34. What are some common modes of digital payments? :
A) Banking cards
B) UPI
C) E-wallets
D) Alloftheabove.
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38.

What does USSD stands for ?

A)
B)
O
D)

T SQtrie re ~ .« . .
Unrestricted System for Secure Digitalization
Unstructured Supplementary Service Data
Unified Secure System for Digital Payments

None of the above

Which organization provides guidelines on digital payments in India?

A)
B)
C)
D)

United Nations.
Reserve Bank of India (RBI)
World Health Organization

All of the above.

What does the payment settlement Act 2007, regulates?

A)

C)

D)

Payment and Settlement Systems in India
Social Media Platforms
E-Commerce Websites *

All of the above.

What is a common threat to E-commerce security?

N

B)
&)
D)

Physical theft
Digital Marketing
Effective Communication

Unauthorizqd access and data breaches.

20907
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39. Whatis asignificant advantage of E-commerce ? B
A)  Limited product \*aﬁe ty
B) Restricted accessibility
C) Globalreach and acéessibi]it}'

D) Slow transaction processing.

40. Which is a common fraud related to digital payments?
A) - Transparent Transactions
B) Secure Authentication
8} UD%HﬁlOﬁZ&dACCESé

D) Verified Transactions

41. Whatisthe term fora selfreplicating malicious program that spreads throughout computer
files ?

A) Worm
B) Trojan Horse
C) Virus

D) Phishing
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42. Whatis the primary focus of End point Device Security?
A)  Cloud Compllxting
B)  Securing Physical Devices
C) Social Media Management

D) Satellite Communication

43. Why is mobile phone security important?
A) Toimprove battery life
B) To prevent phone c;alls '
C) To protect personal and sensitive information

D) To increase processing speed.

44. Whatis akeyaspectofa password policy?
A)  Sharing passwords openly
B) Same password used for all accounts
O Mer.norizing complex passwbrds

D) Regularly changing passwords

" [PT.O.
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48.

Whatdoes security Pately Management involye?
) lenonng sollware updates

B Regularly updating and applying patches
) Uninstalling security sofwares

D) Disabling tirewalls

Whatis the significance of o Host (irowall?

A) - Enhancing device aesthetics

B)  Controlling incoming and out going network traffic
C)  Reducing battery consumption

D) Improving processing speed.

Why is an Aativirus software importan(?
A)  Tocreate a digital Art

B)  To control network traffic

C)  Toimprove device battery life

D)  To protect against and remove malicious soltware,

What s the purpose of configuring basic sceurity policies and permissions?
A)  Enhancing device security by restricting access

B)  Simplifying device usage

C)  Granting unlimited access to all users

D) Increasing device processing speed

20907
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Why kit backup important in cyber security?
AV Toinerenne device storape capacity”
) Toulow down data transfer Hpeed

C) - Toprevent data from being sceessed

D) Torecover fost dati in cane of a cyber incident,

What should be considered when downloading third - party software?
A)  Ipnoring soltware reviews

13)  Downloading from untrusted sources

() Verifying the softwares legitimacy and source

D)  Downloading without any permission.

20907
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